Disc ussion

X— 0 X
{,-M. cosx —1 — llm — SN o | — COS X
X— O 3)(1 X=-0 6X X0 ~
Lo
silby v 8
In X o)
lfm X (00)
X— 00 i
I x }J'm lnx |
n X X— 20 In X
‘IM e - e - & =€
X — o
X— o0’ \) SInX =
3 .
h‘m VX = ll'm l SInx \
XK=+ Cos x X'_)0+ CoO5 X X
2 VSinx
Q_)__/ 'lm _____..Vx = Liva A
ey Sin X oY SInX

~ =

SnxX

Il‘m

STUDENTS-HUB.com Uploaded By: Malak Obaid



© —>o &
sin &
]',:M ____3 InE (o3& - (1) ()vﬂ)(l) — )Hg
e — 0 )
X o
i ()+—'—) (o)
X—o0" A
¢ L
In (14 L) x)-',”;‘*- X In()+ L) (02ad]
,Jm e e b
X= of
\ s 0
T n( 1+ % (__)
x—2ot o 1 eo
=—e A
Tt
: e : ) b X
x!::* L )"\'I-‘-':"" g ;—”*' o
=t -i-.;_ = O allo S 2
ey . 4 >
(Follen oot pividd by 2
X = 00 Sx._‘?_
X
\ A+ (._‘."__)
_ ,I‘M 2 = \ 4+ O L2 dor \
) 5 \" o)
Re— — 0O —?-:) - \ A —
X
%
)
7X
|
STUDENTS-HUB.com = p—




	1
	2

